Calculating Resistance

Show FULL solutions for the following questions.

1.
Only 2.5 x 10-3 A of current pass through a portable CD player.  If the CD player is

operated by a 9 V battery, what is the resistance in the circuit?

2.
An automobile headlight has an average resistance of24 Ω.  Car batteries provide a

potential difference of 12 V.  What amount of current passes through the headlight?

3.
In a portable radio, 0.5 A of current are flowing through a conductor that provides 18 Ω of

resistance.  What potential difference is provided by the battery?

4.
A clothes dryer uses a 220 V power source.  The coils of the heater provide an average

resistance of 12 Ω.  What amount of current is flowing through the heating coils?

5.
A 9V battery maintains a current of 3 A through a portable radio.  

What is the resistance of the conductor?

6.
What is the resistance of a 1100 W hair dryer plugged into a 110 V outlet 

with a 10 A current flowing through it?

7.
A 55 W will allow 0.5 A to flow through it.  If the outlet provides a potential 

difference of 110 V, how much resistance is provided by the bulb?

8.
An automobile headlight has a resistance of 40 Ω when attached to a 

standard 12 V battery.  How much current flows through the headlight?

9.
A portable CD player, operating with four 1.5 V batteries connected in series, provides a

resistance of 15 000 Ω.  What amount of current is flowing through the CD player?

10.
An electric motor has an operating resistance of 25 Ω when a 4.8 A current is flowing

through it.  What is the potential difference of the outlet the motor is plugged into?

11.
A technician is checking the circuits on a vehicle.  The technician measures the current

entering a component as 0.47 A.  The potential difference across the component is 12 V.  
What is the resistance?

12.
An electric toy has a resistance of 120 Ω and requires a current of 0.050 A to work

properly.  How many 1.5 V cells does the toy require?

13.
A television that is plugged into a wall socket has a potential difference of 120 V across its

terminals.  If the television uses a current of 1.45 A, what is its resistance?

14.
A toaster uses a current of 10.4 A when it is plugged into a 110 V outlet.  

What is the resistance of the heating coil?

15. 
How will the current passing through a resistor change when the potential difference

across the resistor is doubled?

16.
The filament of a flashlight bulb has a resistance of 40 Ω.  If a 6.0 V battery is used in the

circuit, what is the current?

17.
A circuit board has a resistance of 12 Ω and requires a current of 0.25 A.  

What potential difference is required to operate the circuit board?

18.
The current in an automobile headlight, which is connected to a 12 V battery, is 0.80A.  

What is the resistance of the headlight?

19.
The resistance of a particular circuit board is 5.0 Ω.  What potential difference must 

be supplied to the circuit board if it requires a current of 0.30 A to operate?

20.
An electric motor has a resistance of 7.41 Ω.  What current is there through the motor

when it is connected to a 100 V source?

